2y — [x+y—{2x - (5x + 3y)}| & 1tFs] spH?

O -5x-2y (@)—4x—2y ® x+3y
@ 2x -5y ® 4x+ 3y

B

2y—{x+y-(2x-5x-3y)}
=2y—{x+y-(-3x-3y)}
=2y—(x+y+3x+3y)
=2y—4x—4y=—-4x-2y
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(¥ =2)(x+2)(x* +4) & DA

D x* -4 @ x?-16
@ x*-38 @x4—16

@ x*-4

(2 -4)(x2+4)=x*-16
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(x-4)(x+2)=x2-[ -8

(—x+20)(x+[__I) = -2+ 4
(a+2)(3a—-4)=3a>+[ |a-38
(
(

@
)
®

®
®

4+ 1)2 =dx +[ Jr+1
x+y-2)+y+2) =22+ Jy+y2-4

0,0,0,0:2
@ : 4
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fele 2 ol e 4D 0 B Bl £ 4 mE g

A7) B St & o), q 9] ghe?

@9 @ 21 @63 @ 108 ® 189

=

5__ 5 9 7
84  22x3x7 45 32x5
7V &2 A AF a =32 x 7
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1
33+3“:§, 25 +50%x25 =125 & W], a + b 9 FL2?

® 3 @ 4 ® 5 @) ® 7

B

1
3% = 5 x 39 =3+20|H& g =15 o[t}

52042 — 53 0|22 p =1 o[t}
W2t a4 b=541=6°|t}




6. The FoIA &7 AL Z0] A4

(a) (—x)? x dxy = —4x’y

(b) 6ab + 3a x 2b = 4b*?

(c) -8a® + 4a + a = —2a*

(d) (9xy —6y) + (=3y) = —3x -2

(e) —8a%b X 3ab? + (—12ab) = 2ab?

O1M @271 @3/ @47 O 5

d) (9xy — 6y) + (-3y) = -3x+ 2
&2 A4 (b),(e) 27RO




DAY 2xtay = 9 & 37} (4, b) ]2, ETHR T 7 (2, 5)
[e]

A, a+b O] G227

®-1 @-4 - @e ® 5

(2,5) E2x+ay=9° HYSIH 4 +5a=9 .. a=1
(4 b)E2x+y=9°tHdstA8+b=9 ~b=1
Soa+b=2




8. The FolA A7 (-1 1) A AYFHAL B D2HY (

x+3y=2 0.3x + 0.5y =3
f > o {0
—6x+ 7y =13 2x+y=-1
dx4+y=0 dx—-Ty=-11
@ @
x+y=0 |l ty=2
2x—-2y=5
® fxy
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40x99 4 131
990

@D 4.082 @ 4.112 3 4.192 @4.132 ® 4.152

40x99 + 131 4091

990 900 132
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a+(-3) =2 a=1x(2)=
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11. A = (12a°b° — 8a°b*)+(24°b)?, B = (4a°b* — a®b?)+(-ab)*> & ),
A—(B+2C) = 3ab® + 12 WE5h= A €& F-5HH?

® C=ab @ C = ab? G)c = -3
@ C = 3ab? ® C=-ab

B ‘

Foi21 4 4, B2 A5

A = 3ab® — 2ab?, B = 4ab® — 10|t}

A— (B +2C) = 3ab® + 1A

A—B-2C =3ab®+10°|1,

2C=A-B-3ab® -1

2C = 3ab? — 2ab® - (4ab2 — 1) —3ab3 -1
= —6ab?

FHL 28 UYFH
C = —3ab? 9|t}




12.

A% (mym +10) ] AHHFZA x +2y = 11, nx -2y = 19| S|

O -15 @ 2 ® 8 @ 13 @15

(m,m+10)2 x + 2y = 119t YA5HA

m+2m+20 = 11

ot m= -390, x=m=-3, y=m+10=-3+10=7
o] up2tt.

x=-3,y=72nx-2y=1° gY¥3IH -3n-14=1

webA n = -57F Fth

somn=(=3)x(=5) =15




13.

0.30 = a x 0.01, 0.300 = »x 0.001 & o, |a - b| 2] L7

@ 150 @ 220 @270 @ 320 ® 350
.. 30 1 ..
0.30 = 99 —30x® =30 x0.01
wa=30
. . 300 1 ..
0.300 = 999 — 300 x 999 = 300 x 0.001
.. b =300

2 la = bl =130 - 300] = 270
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D 9 @ 11 ® 13 @15 ® 17

(%Q):%x(1000—1)=%x999=15




15.

220 8% = 42 x 2% WEBH x O] ghE FohH?

22x X 23x — (22)2 X 2%
25x — 2x+4

Lx=1




